
 
 
 
If, in the aggregate, consumers spend 88 cents out of every 
extra dollar received, the: 

قرشاً من كل دينار مستلم كدخل إضافي، فإنه  88إذا كان ، بالمتوسط، يصرف المستهلك حوالي 

 :يمكن القول هنا بأن

MPC: الميل الحدي للاستهلاك 
MPS: الميل الحدي للادخار 
APC: الميل المتوسط للاستهلاك 

APS: الميل المتوسط للادخار 

 MPC is 0.88. 

 MPS is 0.88. 

 APC is 0.88. 

 APS is 0.12. 

 
The real wage will rise if the nominal wage: 

يقة إذا كان الأجر الاسميسترتفع الاجور الحق : 

 falls more rapidly than the general price level. .  تنزل

 ..بسرعة أكبر من مستوى السعر العام

 increases at the same rate as labor productivity.  
 .يزداد بنفس معدل إنتاجية العمل

 increases more rapidly than the general price level. 
بر من مستوى السعر العاميزداد بسرعة أك . 

 falls at the same rate as the general price level. . 
 يزداد بنفس معدل السعر العام

 

 

 

 

 



 
If you would have to pay $5000 in taxes on a $25,000 
taxable income and $7000 on a $30,000 taxable income, 
then the marginal tax rate on the additional $5000 of 
income is: 

 25،000دولار على دخل خاضع للضريبة بقيمة  5000إذا كنت ستضطر لدفع ضرائب بقيمة 

لضريبة دولار ، فإن معدل ا 30،000دولار على دخل خاضع للضريبة بقيمة  7000دولار و 

دولار هو 5000الهامشي على الدخل الإضافي البالغ  : 

 40 percent and the average tax rate is about 23 
percent at the $30,000 income level. 40  في المئة ومتوسط

دولار 30،000في المئة على مستوى الدخل  23معدل الضريبة حوالي  . 

 50 percent and the average tax rate is 40 percent at 
the $30,000 income level.  50  40في المئة ومتوسط معدل الضريبة 

دولار 30،000في المئة على مستوى الدخل  . 

 40 percent and the average tax rate is 25 percent at 
the $25,000 income level.  40  25في المئة ومتوسط معدل الضريبة 

دولار 25000في المئة على مستوى دخل  . 

 30 percent but average tax rates cannot be 
determined from the information given. . 30  في المئة ولكن

 .متوسط معدلات الضرائب لا يمكن تحديده من المعلومات المقدمة

 

 

 


